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1. DO NOT open the contest booklet until you are told to do so.

2. You may use pencil to write your answer and scrap papers for
rough work.

3. All questions MUST BE answered on the answer sheet that
comes with the question booklet. Any writing on the question
booklet would not be accepted as answer.

4. Diagrams are not drawn to scale. They are intended as aids
only.
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.69 —-17=7

57+ 18 =7

100 —55 =7

hx3="7"

3x9="7

206 x 10 =7

2x4x3="7

2017 x0="7

9+3="7

56 +7=7

13x7+7=7

42 -6 xT7=7

3XH5+7=7

Ox4—-6=7

4x8+20—-15=7
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Which digit is in the hundreds place in the number 17297

1729 8 B 4% & —1BF 5 ?

Janice is facing the south. The is on her right.

SR G T o A R o

Find the missing number.

HEER EERF -

I0m 7 cm = cm

Which four-sided shape can be made by using the following geo-strips?

A VATE 8 AT T 2 b AB e 3 S 2

|lo o o o o O]

lo o o O
lo 0 0o O

Mom went groceries shopping. She bought a steak at 59 dollars and 90 cents which
was 9 dollars and 90 cents cheaper than the original price. Find the original price of

the steak.

[2.0%]

[2.1%]

[2.2%]

[2.3%]

[2.4%)]
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Anson and his 4 friends each ate 5 pieces of chicken nuggets. How many pieces of [2.5%)]

chicken nuggets did they eat altogether?

D Fide 4 BIRABFEACT 5 R > MELT 5 SR 7

How many days are there in the February of 20177 [2.6%]

2017 FH=_AK YA ?

Find the missing number. 27%]
R AR Lo B

7 X 8=72

A movie theater sold 328 tickets in the morning. The number of tickets sold in the [2.8%]
afternoon is 168 more than in the morning. How many movie tickets are sold in the

whole day?

BIREFLEERT 328 RESE > TFRRFLSEERT 168 REE - MERARE
BT S VREKE?

? prism has 7 faces. [2.9%]

? AR 7B o

Veronica has 5 piano lessons every month. How many piano lessons did she have [3.0%)]

from April to November?

PRIGHEAA L 5 TERc W@ AR+ — A LT % FEMER?

P.3
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If the monkey weighs 38 kg, then how much in kilograms does the turtle weigh? [3.1%)]

R BTFEISAF BNEBETEL VAR

A pencil costs 9 dollars. Ross has 59 dollars. How much more money does he need [3.2%)]

to buy 7 pencils?

—XBEEIE O BMA 59 Lo MBRETTAE 7 L4857

A gift can be redeemed at 10 stamps. Leo can only redeem 9 gifts. Leo has at most [3.3%)]

? stamps.
£ 10 BMEZ TR0 D84 » BRERETHRR OGS BREKSTE
HEF 7 fEe
A star is heavier than a triangle by ? grams. [3.4%]

—EEMI—BE=ANE ? R e

P. 4
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Find the missing number. [4.0%]

EEEs & SR o

31.32.35, 2 A7 .56.67.80, ...

Evaluate 17 — 18 + 19 — 20 4+ 21 — 22 + 23 — 24 4+ 25 — 26 + 27. [4.1%]

A 17— 18+19-20+21 —22+23—24+25—26+27°

Each letter represents a digit. Find the value of A. [4.2%]

o REBELFFREA AT » A GEBEES S ?
6

I
Qo -
Q| =

A photo album has 60 pages. Each page has 2 photos. Jeff takes out one photo on [4.3%)]
each page from page 30 to page 60. How many photos are left in the album?

—AAEH 60 B HEA2RBHA - PAKRSE 30 HES 60 EHABHETA—K
B MAREARRA S VIREBA?

How many squares can be drawn by connecting the given dots below? [4.4%]

TERTAEE Z S EEFH?

P.5
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36. Alan is building one side of a fence that is 90 meters long. If Alan has 10 fence posts [4.5%)]
and every two adjacent fence posts must be in fixed distance, how far apart in meters

are every two adjacent fence posts?

MiaA 10 AR AR ERAEZEE—@&k 90 ROEMR - wREREARAEZ
Wl eg3EdEATAR R » Pl BEHET S S K2

37. Form two 2-digit odd numbers from 1, 2, 3, 4, 6, and 7. The digit cannot be repeated. [4.6%)]

What is the greatest difference between the two odd numbers?

123 4~6F7 PEAMBERFRAR 2 BRILEHR » HFLTUAEHAAL
Bl o ZMBERIZERIERRZLS S ?

38. What is the ones digit of 1997 + 1998 + 1999 + - - - 4 2016 + 20177 [4.7%]

1997 4+ 1998 + 1999 + - - - + 2016 + 2017 89 S F L B ?

39. What is the most number of intersections that can be formed by 6 straight lines? [4.8%]

SAEBERR S TR RS VB4 X EE?

P. 6
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40. Three men are sitting on a bench. Their names are Mr Truth (always telling the [4.9%)]
truth), Mr Lie (always lying), and Mr Wisdom (sometimes lying). You asked the one
on the left: “Who is sitting next to you?”

“Mr Truth,” he replied.

Then you asked the one in the middle: “What is your name?”
“Mr Wisdom.”

Finally, you asked the one on the right: “Who is your neighbor?”
“Mr Lie.” He answered.

Please identify their name from left to right. (Only write one letter from A to F)

RELATZMEA ML FERT L (LTEAE) ~ KFhd (LTHRB
%) AR AL (BARE) - RKRABGARM : TRAERFEGEET

MaRE At o ] = o
KBS PR THREHRE?
MBI o |
"t& o B R AEEmA : TREGAEHRE?
FRFEHRE o | MBI o
REFRGEEE»HEMOLF - (AEZFE—MM)
A. Mr Truth, Mr Lie, Mr Wisdom; #& & %4 ~ K& L4t ~ RIFLE
B. Mr Truth, Mr Wisdom, Mr Lie; 3% E &4 ~ BRI A% - K44
C. Mr Lie, Mr Wisdom, Mr Truth; K3&E4&4 ~ BIF LA - RE L4
D. Mr Lie, Mr Truth, Mr Wisdom; K3&&84 ~ /T o4 ~ RIELA
E. Mr Wisdom, Mr Truth, Mr Lie; BRI %24 ~ RE 4 ~ KsEh4t

F. Mr Wisdom, Mr Lie, Mr Truth; &JF %4 ~ K& L4t - RE L4

End of paper



ANSWER SHEET
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‘'mAY MATH esueays o
CONCEPTITION A o B B
n 52 w13 w25 3 40
» /5 | 49 2@ 28 |3 22
3) 45 13) ) 23) 9 33) 4
9 15 1 30 ' 824 3 89
5) )7 15) 37 25) Pejlt%g%nal 35) 20
6 2060 |1 7 260 40 3 10
n 24 17) West/P5 (270 34 37) 54
8) 0 18) 1007 29 $4 38) 7
Trapzoid /
9) 3 19)  trapezium/ | 29) 99 39) 15
BRI
10) 3 20 $69.8 3w 2940 40 F
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